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����� 2 

 

��	
� ��
���� �����������
��� 

 

2.1 ��	
� ��
���� 

 

 - ����	
���
� 
 - 
�����������������
�
����� 5, 1 ��� 0.5 �
��
��
� 
 - Hand Refractometer 

- +,-��./����� 40 	�

1 2/��	� 2 �3�4��� 
- �5+��61
��7���./�/7������9 
- �3�4���:;<����9 ;�	7��=  
- 
����=>?@A���
�
�����?=� 1x1 �
��
��
� 
- C5������./�����
�����?=� 5 D�3��� 
- ��	=��������
�����?=� 20 D�3��� 
- �������>����>?�3�4�E>?��	�����><�F���9G�=1���� 24 �H�

��
� >G� 6.5 �H�

��
� 
3	��25 1 �

� 

- Thermometer 
- �3�4�����<	 ���� ���E��
	����� 1000 �
��
�

� flask ���� 250 �
��
�

� E?�����1 
;���;=� >D��1 ��� >D��1;�5� O�O 

- �	�P;������><�F���9G�=1���� 22 �H�

��
� >G� 35 �H�

��
� 3	��25 10 �

� 
- �	��./����>

����� 8x8x30 �H�

��
� 3	��25 1.5 �

� 
- �3�4�����=����
P���

 
- ��<��25�7��9�1�EE>�
��
P� ����EE���>1+����E 
- �5+��61C��=�G+R�=:
<��<��25�7��9�1 
- +��3?E ��� ��S���?�= 
- ��<��C��=�G+ 
- �	���<	��SE
�	�=������� 5 �
��
�

� 

 - �	����>

���SE
�	�=����EE�?T�+U� ���� 1 �
��
�

� 
- @��1���
� 10 % 
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2.2 ����
��������� 

 

2.2.1 �������� ��
����  

 

E����?.=����������X51: :�<E��H?���
1���� 176x270x70 �H�

��
� 2/��	� 2 E�� 
����4.�E���<	=
����=�5<�>?@A���
�
�����?=�����
�+����6 1x1 �
��
��
� ����7?�2�:>�7��=
;=�E��D+ P�=:>�:;<�?3	��;�������.�7��= 10 �H�

��
� (�G+7?� 16 ��� 17)  

R����7?�:�<��?.=�
�	����: �E������+]� 2 ��=���������5E�� ��=����;���2��
7?�D��D�<��E���F>�2��>�+U�1� �/�D��D+��5E��:��	����>

�7���;�?�=�:>���� 8x8x30 
�H�

��
� 3	��25 1.5 �

� :>��./� 1 �

� 7?�;5<���E�	��<	=���>

�>?�/� (�G+7?� 18) ��5E��2���<�>G�
��=� trochophore ��<	2_�=<�=
�	����D+��5E��
��:��	�P;�7�����E�������><�F���
9G�=1���� 22 �H�

��
� >G� 35 �H�

��
� 7?�;5<��<	=���>

�>?�/� 3	��25 10 �

� (�G+7?� 19) :>��./� 
5 �

� 2�
�	������<�>G���=� nectochaete 7?��	�� 48 ���	P�� 

 
2.2.2 �������� 
�� 

 

������?.=����������X512�
<���<��7��=�<	=�./�24�;��=` 3��.�:;<>���� ��<	�/�7��=
D+
�����:;<�;<������/���:>�:�E����?.=����������X51  

�/��
�2��E�
 �	6��SE
�	�=�����	
 �3���;1;�������5R�3��S��
�P�=	
X?
DaP���
�
��1 (Gee and Bauder, 1986) ���	
�3���;1;�+�
��6�
�7�?=	�
C5
��	
X? Walkley and 
Black modified (Nelson and Sommers, 1986) ����/�7��=7?�:�<��?.=���	
�3���;1;�������5R�3
��S��
� ���;�+�
��6�
�7�?=	�
C5R�=;���2�������?.=�  
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�G+7?� 16 E��H?���
1���� 176x270x70 �H�

��
� 7?�:�<��?.=����������X51 

 

 
�G+7?� 17 ���j6����7��=;=�E7?�:�<��?.=����������X51 
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�G+7?� 18 �	����>

�:>7?�;5<��<	=���>

�>?�/�����3	��25 1.5 �

� 7?�:�<:������5E��
�	����2�
��<�>G���=� trochophore 

 

 

�G+7?� 19 �	�P;�����3	��25 10 �

� +U�3�5��<���<���<	=���>

�>?�/�7?�:�<:������5E��
�	����
��=� trochophore 2���<�>G���=� nectochaete 7?��	�� 48 ���	P�� 
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2.2.3 �������� �"��  

 
�./�7?�:�<:����7����: :�<7�.��./�7��� ����./�24� (�./�+��+�) �����2�
<��+��E3��

3	���3S�����./�:;<D�<
��
<����� �./�7�������./�24�7?��/���:�<
<��F������k����4.��<	=3���?�F� 
(�3��H?=�DaP+3��D�
1) 3	����<��<� 20 ppm (>
7X
 E56=��
F�
�, 2530) ����/�2��3���?�:;<
;�������/���:�<P�=���:;<����9
����	��2��	��3���?�2�;��D+ H_��7�>�ED�<P�=���:�<
P��7>�H?=�D�P�D��1 (KI) ;=���D+:��./���4���G����+�?�=�>?���>������=;��>������=�?���
�+�?�=�>?2��>?��	:>D+�+]�>?�;�4���>��	��3���?�=��3��;�4��=G� �
�C<�>������=D���?����+�?�=�
>?�>��	��3���?�CG��/�2�����;��2_�2�>����C�/��./��������	��:�<D�< �./�7�������./�24�7?�F���
���k����4.���<	2�
<���/�������
�?=�D	<:�<
������7����P�=�?���:;<����9
����	�� (�G+7?� 
20) 

�./�7?�:�<�

�:�E����?.=����������X512�
<���?�������P�=:�<C5�����H_��7/�2��F<�
����
�����?=� 5 D�3��� 75�3��.� >�	��./�7?�:�<:����7�����������X51 9_�j���n�������.�
<� 
���	
X?���3�D�� 2�
<��+��E3��3	���3S�:;<�7����E3	���3S�����./�:�E����?.=����������X51�6���.� 
�������:�<2�
<�������./�P�=:�<C5���������
�����?=� 5 D�3��� ��<	�����?�3��.��<	=��	=
��������
�����?=� 20 D�3��� ����:>�:�R����7?�:�<��5E�� ��4���/�2��:=���C5���������
�
����?=� 5 D�3��� �����C5�������
��������	��4��:�<D+2��?����+op�==5�= 

 
�G+7?� 20 E������./��3S�7?�+��E3��3	���3S� �����/�D+:�<:������?.=����������X51 ���:�<:����7���� 

R�=:�E���?���:;<����9
����	�� 
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2.2.4 �������� �����$��%$�� $%�����  

 
��SE
�	�=���2��E�
�	6;�G� 1 E<�����	7��= 
. ����=� �.��4�� 2.>���� :��6�7?�

�./���
�/�>5�2�>����C����;S��4.�P3��:�E�
�	6��
 intertidal P�=:�<����	
���
��_�+����6 10-
20 �H�

��
� �������<���
��_.�����<	2_����2�=����<���
������4���/�D><��4��7������2���
� 
��4���q���D><��4��7�����
� N. glandicincta 7?��?���j6��+]�
�	�
S�	�= P�=D><��4��7�����
�
�������	�?���j6�7?�>����C>����
D�<2��R�=���34� �/�
�	�?>?���+�>?���G���� ���j6��/�
�	=�	 
�? tentacle cirri 4 3G� �?
� 2 3G� �? palp 2 ��� �?����3	��=�	+����6 5-9 �H�

��
� ����	<��
+����6 2-3 �
��
��
� H_�����j6��������	>����C>����
�;S�D�<�<	=
��+��� (�G+7?� 21 E�) ��SE���
������X51D><��4��7���:;<D�<+�
��6���7?�>5� H_�������SE�
���3��.���2D�<
�	�=������������X512/��	�
D����� �����q���.�2_�
<���?�����SE
�	�=���;��=3��.���4��:;<D�<+�
��6���������X51>/�;��E:�<
7�����=�����?=��� �/�D><��4��7���7?�3����4��D�<D+:>�:�����������G�
��?=�7?��
�?=�D	< H_��D�<:>�
7��=����?=�2��E�
�	67?���SE
�	�=�����D+:����������S��<�=��4���+]�7?�;�EH������D><��4��
7��� ���:>��./�2��E�
�	67?���SE
�	�=�����7�	�7��= (�G+7?� 21 ����) 2����.��/�D><��4��7���7?�
D�<��=��P������@,�R�3	
��	��
�9�>
�1 36�7���=���X�����

 �;�	
7=���=>�����3�
�7�1 
(�G+7?� 21 ����) ��4��7/����3����4��D><��4��7���7?��?3	��>�EG�61�/�D+��?.=��+]����������X51
��D+ 
   

2.2.5 ��'�����()*���"��+	*�
,������ 

  

:���	���������?.=���4���/���:�<�+]����������X512�:;<��;���5<�>/���S2�G+ (��;��
�5<��5���/��E��1 2 =?�;<� �?���H1 ABN-2 ���E�
j�7D7=���H1 ��S��
��1D��>1 2/���� (�;���) �?+�
��6
P+�
?�D��
�/��	�� 40% +�
��6D����D��
�/��	�� 5% ���D������	�� 3% ���3	���4.�D������	�� 
15%) ���D><��4��7��� (+�
��6��;��7?�:;<2�+��E�+�?�=�
��3	���;���>�P�=>����
2��
+�
��6D><��4��7���7?��_.����
���;��) >�	�:���=�7?��+]������1
��D><��4��7���:�	�91 
Nereididae 2�D���
���;�� (Ruppert and Barnes, 1994) �����q���.�:���	�������9_�j�	
X?���
�������X51 ��n�������.�
<� ���	
X?���3�D�� 2_�D��
<��:;<��;�����
�	����  
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�G+7?� 21 �����SE
�	�=���D><��4��7���: 3����4��D><��4��7�����
� N. glandicincta ���2���
� 

(E�); ����������G�
��?=�7?�:>�7��= ����./�2��E�
�	67?���SE
�	�=�����D+��7�	�7��= 
(����); D><��4��7���E��25:�C5����>

���4����=<�= (����) 

 

(����) 

(����) 

(E�) 
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2.3 ��������
���  

 
�E�����7��������+]� 3 ���7���� 	���F����7�����EE>5��>�EG�61 

(Complete Randomized Design: CRD) 
 

����
������ 1 �+�?=E�7?=E����������X51D><��4��7�����
� N. glandicincta P�=
	
X?
��X�����

 ���	
X?���F>��7?=�R�=:�;<��+x
E�

��� P�=9_�j�2����
�����+x
>�X
 ��
��
���@,� �����
�������� 2���<�>G���=� nectochaete 7?��	�� 48 ���	P�� (��4�����2�����7����
�E4.��
<��E	��7?��	�� 48 ���	P��;���2�����+x
>�X
 
�	����2���n����<�>G���=� nectochaete 7?��? 3 
+�<���=���>�EG�61) 

 �/����������X51D><��4��7���7?���<��F>����X51P�=>����
2������_.���	��=�./���4��
2�E3G�F>����X51��7/����7�����������X51 2 	
X?34� 

1) ����������X51P�=	
X?
��X�����

 �
�?=��./�7���:;<�?3	���3S��7����E3	��
�3S�:�E����?.=����-������X51�6���.� �/��������>����>?�3�4�E>?��	�����><�F���9G�=1���� 24 
�H�

��
� >G� 6.5 �H�

��
� 3	��25 1 �

� :>��./�7���7?��
�?=�D	<��D+ 200 �
��
�

� :>�D><��4��
7���
�	FG<���
�	��?=7?��_.���	��=�./���<	:���
��>�	� 1:1 D><��4��7���7?���<��2�F>����X512�	��=
�./���<������������ ;���2��D><��4��7���F>����X51����>�S2:;<�=�
�	���������X51��� (+U=���31 
P�

���X51 ��� ���31 >	��=�X
+,
=1, 2528) �/�D��7?�D�<D+��5E����4��9_�j�
�� :��	����>

�7?�
�
�?=�D	< �

��./�7���7?��
�?=�D	<��D+2�D�<+�
��
� 1 �

� ���:;<����9
����	�� 2�3�E 48 
���	P�� 

2) ����������X51P�=	
X?F>��7?=� �/�D><��4��7���
�	FG<���
�	��?=�=�:>���:�
R����7?��
�?=�D	< 2����.��/�D><��4��7���
�	��?=��
��
�������/�
�	P�=:�<�?�F��
����<	+���=:;<
D��D;������2�;�� �/�D��D+�<���<	=�./�7���7?��
�?=�D	< (+��E3��3	���3S���<	) P�=���3��<	=
��D���E�` ��:;<D��
�
���� ��<	3��=` �
��./���� 7/�H./���� 2 3��.� 2����.��/�D><��4��7���
�	FG<
��
��
�������/�
�	������� P�=:�R����2�
<��:>��./�7���7?��
�?=�D	<+����6 25-50 �
��
�

� 
+���=:;<�./���4.�D;��������<	3��./���4.�F>���E�./�7���7?��
�?=�D	< ��<	�G�����./���4.�7?�F>���<	
2/��	� 3-4 ;=� ��D+F>���ED��7?��<����<	 7/����3��E�` (Grave, 1937) �/�D��7?�D�<D+��5E����4��
9_�j�
��:��	����>

�7?��
�?=�D	< �

��./�7���7?��
�?=�D	<��D+2�D�<+�
��
� 1 �

� ���:;<
����9
����	�� 2�3�E 48 ���	P�� 
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����������X51:��
���	
X?2�:�<���������X513��.��� 1 3G� 7/����7����7�.�;��	
X?�� 
4 3��.� ���@,�D��2��=�@,�D�����3G�F>��
���3G����2�����  

�����SE
�	�=����E������+]� 3 3��.�  
3��.�7?� 1 ��SE
�	�=�����4��9_�j���
�����+x
>�X
 P�=��SE
�	�=���;���2����
��7/�

���7���� 30 ��7? ��4���2��7?���=��	���������	 >����C>����
3	���
�
�����;	���D��7?�D�<��E
���+x
>�X
 ��ED��7?�D��D�<��E���+x
>�X
D�<�=�������2� 

3��.�7?� 2 ��SE
�	�=�����4��9_�j���
�����@,� P�=��SE
�	�=���;���2����
��7/����
7���� 10 ���	P�� ��4���2��7?���=��	���������	>����C>����

�	����7?�@,������D�< 

3��.�7?� 3 ��SE
�	�=�����4��9_�j���
��������2���<�>G���=� nectochaete 7?��	�� 48 
���	P�� ;��=C_��	��7?�>
.�>5����7���� P�=��E�q���
�	������=� nectochaete 7?��? 3 +�<��
>�EG�61  

����/�;����=��	��
���` ���	
X?��SE
�	�=���:����9_�j�3��.��?.�+]�����/��<��G�
2�����9_�j��E4.��
<���+��E:�<
��3	���;���>�  

���;���
�����+x
>�X
 ��
�����@,� �����
�����2�C_���=� nectochaete 7?�
�	�� 48 ���	P��7?�D�<2������������X517�.� 2 	
X? :�<	
X?3/��	6P�=:     

          
��
�����+x
>�X
 (%)  =       2/��	�D��7�.�;��7?��/���7���� - 2/��	�D���>?=   * 100 

       2/��	�D��7�.�;��7?��/���7���� 
                     

��
�����@,� (%)           =       2/��	�
�	����7?�@,������:;��    * 100 
             2/��	�D��7?��/���@,� 

 
��
�������� (%)          =     2/��	�
�	������=� nectochaete 7?��	�� 48 ���	P��    * 100 

                                                                           2/��	�
�	����7?�@,� 
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����
������ 2 9_�j���n�������.�
<����D><��4��7�����
� N. glandicincta 
(
�.��
���
���?���+x
>�X
2���<�>G���=� nectochaete 7?��	�� 48 ���	P��)  

��4��	
X?����������X517?��;���>�2�����7����7?� 1 7/�����������X51D><��4��
7�����4���/���9_�j�:����7����7?� 2 P�=>5��
�	�=�����9_�j���n�����:��
�����=� �E�����
>5��
�	�=�������+]� 3 ��	�34�  

- ��	�7?� 1 >5��
�	�=���75�` 10 ��7? 
�.��
�D����
���?���+x
>�X
2����7�����<�>G�
���	P��7?� 2 (120 ��7?)  

- ��	�7?� 2 >5��
�	�=���75� 30 ��7? ��
��
�.��
����	P��7?� 2 C_����	P��7?� 12  
- ��	�7?� 3 >5��
�	�=���75� 60 ��7? ;���2�����	P��7?� 12 2�
�	������<�>G���=� 

nectochaete 7?��	�� 48 ���	P��  
7/����7����7�.�;�� 3 3��.� ���>5��
�	�=����
�����	��	��2�>5��
�	�=��� 4 H./� �
�

��H./�+����6 10 
�	 ��<	�/�D+���:� buffer formalin 4 % 7?�7/�:;<�+]�����P�=:�< borax 
(Na2B4O7) (Fauchald, 1977) ��4���/���9_�j���=������n���<	=��<��25�7��9�1
��D+ ����/�;��
��=��	��:����>5��
�	�=�������+]���	�` �������	 ��4�����2��FG<	
2�=D�<7/����7�����E4.��
<�
�E	��:���	������������n�� D�����D><��4��7���2��?�����n���=����	���S	 ���2�3��=` �<�
��:���=�
���� 2_��/�F����7�����������	��:�<:�����/�;���	��:������SE
�	�=��� 
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����
������ 3 9_�j�F����	
X?���3�D�� 
����
��������2���<�>G���=� 
nectochaete 7?��	�� 48 ���	P�� ���D><��4��7�����
� N. glandicincta  

7/�����������X51D><��4��7��� (��4��	
X?���2��F�������7����7?� 1) �/�D��7?�
D�<���E������+]� 12 >�	��7��`��� ��<	�/�D+��?.=�
��P�=	
X?���3�
���` ��� ����?. 

1 	
X?���	��R������?.=�E��3�4�����=�� �/�D��7?�D�<��E���F>���<	����?.=�:� 
flask ���� 250 �
��
�

� ��<	�/�D+	����?.=�E��3�4�����=��7?�3	����S	 50 
��E/��7? �?���:;<����9
����	�� 

2  	
X?���3��<	=�4�P�=:�<;������@�+]�	�>�5:����3� �/�D��7?�D�<��E���
F>���<	����?.=�:� flask ���� 250 �
��
�

� �?���:;<����9
����	�� ���
�?���3�D���<	=�4��+]��	�� 2 ��7? P�=���3���	
��D+7���	� (            :�
��	��?=	���
���) 75�` 6 ���	P�� 

3 	
X?���:;<����9
����	�� �/�D��7?�D�<��E���F>���<	����?.=�:� flask ���� 
250 �
��
�

� �?���:�<�3�4���:;<����9
����	�� �
�D���?���3�D�� 

 
7/����7����	
X? (treatment) �� 4 H./� 7/����7����7�.�;�� 3 3��.� (���������X51

3��.��� 1 3G�) ;���
����� (%) ���
�	������=� nectochaete :��
���	
X?P�= 
 
��
�������� (%)   =    2/��	�
�	������=� nectochaete 7?��	�� 48 ���	P��    * 100 
                 2/��	�D��7?�D�<��E���+x
>�X
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2.4 ������-���'�.*� /�  

 
���7����7?� 1 �+�?=E�7?=E����������X51D><��4��7�����
� N. glandicincta P�=

	
X?
��X�����

 ���	
X?���F>��7?=�R�=:�;<��+x
E�

��� P�=9_�j�2����
�����+x
>�X
 ��
��
���@,� �����
��������2���<�>G���=� nectochaete 7?��	�� 48 ���	P�� 	
�3���;1F����7����P�=
����+�?=E�7?=E3	���
�
�����;	���3���q�?�=P�=	
X? t-test 7?�����E3	����4������ 95 �+��1�HS�
1 

���7����7?� 2 9_�j���n�������.�
<����D><��4��7�����
� N. glandicincta 
(
�.��
���
���?���+x
>�X
2���<�>G���=� nectochaete 7?��	�� 48 ���	P��) 	
�3���;1F����7����P�=
>�5+��=��	��7?�
�	����:�<:������n����<�>G���=�
���`  

���7����7?�  3 9_�j�F����	
X?���3�D�� 
����
��������2���<�>G���=� 
nectochaete 7?��	�� 48 ���	P�� ���D><��4��7�����
� N. glandicincta 	
�3���;1F����7����P�=
:�<���	
�3���;13	���+�+�	��EE ANOVA ����+�?=E�7?=E3	���
�
������3���q�?�=�<	=	
X? 
Duncan�s Multiple Range Test 7?�����E3	����4������ 95 �+��1�HS�
1  


